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What key vocabulary do we use?

Lots of, groups of, times, multiply, multiplication, multiplied by, multiple of,
product, once, twice, three times.......... ten times as (big, long, wide etc.)
inverse, finding all possibilities, variables, enumerate, combinations,
systematic, organised, pattern, starting point, generalise.

What does multiplication look like?

A A AN A 0000000000000 00000CONOGOOS

AN AN o000 O0OOCOOOOOOCOOOOOOCOPOOOODOO
9000 0O0DCOOOOOOIOOOOOOOPOOOS

VANVANVANVAN 000000000COCOOCOOCOOOOCPOO0OOQ®O

FANVANVANVAN 000000COOOOOOCOOOCOOOOOOOOPOO

ANV AN ANAN 00000 OCOOCOOOCOOCOOOOOOCOOO®O
00000 0COOOOOOOOOOOOOOOPOO®

4 x 5 = 23 x 7 =



What methods of multiplication can we use?

What (s the effect of x 10, 10O, 1LOOCO?

19 x 14 =
20 x 14 - 14 =

5.6 X4 =
(3 x4) + (.6 X 4) =

or
3.6 X 2 and then double.




14 X 24 =
(14 x 20) + (14 x 4) =
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Some cars (with 4 wheels) and 2 wheeled bikes go past the window. | see nine vehicles
and 26 wheels. How many of each vehicle are there?

John and Sarah have the same number of pencils.
John has 3 full boxes and 4 loose pencils.
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Sarah has 2 full boxes and 12 loose pencils. 1
Each box holds the same number of pencils. | ] I |
How many pencils are there in a box?
612 is the product of two whole numbers.
How many different pairs can you think of? X - 612

John has these four digit cards. - - - ﬂ

He puts them into these calculations:

OO0 OO0 ==

12 (48) 3 (6)

Find all the products he can make between 500 and 1000, 11 (44) | 5(10)

0 (20) | 7 (14)

In a farmyard | can see goats and ducks. If | can see 54 g Eg | 1? ”:2]}
feet and 20 heads, how many goats and ducks might :

6 (24) 15 (30)

L L _ 4 (16) 19 (38)

write in the missing digits 23 x 0 = 780 3 (12) i 21 (42)

. o . 2 (8 | 23(4)
Can you design your own missing digit multiplication questions? 1 (4) 25 (50)







